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At a concert 4/10 are children. The rest are adults. There are twice as many men as women at the concert. What percentage are men?

Faith has read 20% of her book. Her sister read 2/5 of it to her. Her mum read the rest. How much did her mum read to her?
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The number of pupils in a school
has been increasing by about

10% each year since 2010. In 2011,
the number of pupils was 220.
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Football tickets cost £46.80 after a 20%  Cindy has found Tamzin has an amount of money saved.  No she would not

decrease. 20% of the The amount is increased by 25% as the two 25%s
reduced price The new amount is then decreased by are not of the
Cindy says, rather than 25%
The original tickets cost realising the same value so ‘
£5616 reduced price is Does Tamzin have the same amount of  therefore they will
worth 80% money as she started with? be worth different
things.
Can you explain her mistake? Explain your answer.
yooew Children could
James says, James is correct as explore doing
5 D - ber by the whole number these calculations
0'” ecreasing a numoer would be worth using different
13% s the same as 100% and 100 take values to convince
finding 87% of that away 17 is 83. ~ 3
number. emselves.

Children might
Do you agree? calculate both and
see that they are
the same.
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What percentage questions can you ask | Possible answer: A golf club has 200 members. 116 male members

about this bar model? If 20% of a number ’
is 3.5, what is the 58% of the members are male. 42 female children

number? 50% of the female members are

(a) How many male members are in the
golf club?
Possible answers: (b) How many female children are in

25%of [_]=(J%of 60 the golf club?

25% of 120 = 50% of 60
25% of 24 =10% of 60
25% of 24=1% of 60
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Four children in a class were asked to
find 20% of an amount, this is what they
did:

Jess [ I divided by 5 because 20% is
the same as one fifth.

| found one percent by dividing
by 100, then | multiplied my

answer by 20 Hannah

Aisha

09 1 did 10% add 10%

| found ten percent by dividing
by 10, then | multiplied my
answer by 2

Who do you think has the most efficient
method? Explain why.

Who do you think will end up getting the
answer incorrect?

All methods are
acceptable ways to
finding 20%
Children may have
different answers
because they may
find different
methods easier.
Discussion could
be had around
whether or not their
preferred method
is always the most
efficient.

Jack and Tara both have a string of

beads. n

They have red beads, blue beads, white
beads and purple beads.

Jack’s beads are 50% blue, 35% red,
10% white and 5% purple.

Tara's beads are 40% blue, 30% red,
20% white and 10% purple beads. Tara
has 20 beads.

Jack and Tara have 4 purple beads
between them.

How many of each colour does Jack
have? How many does he have

altogether?

Jack has 40 beads.
2 purple

20 blue

4 white

14 red
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mum read the rest. How much did her mum read to her?
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